/DIIRB

*UXSD 5R]NiDG % / - 7\J
o
™
7N 7\ 7\6]
=z 36 Z =DICFID RQ 3URFHV\ UR]G]LHIDQID L
L 0QH %/ = = \NiDG PRQRIUDILFIQ\ RFT\V]F]DQID SURGXNIyZ
x 6DQIL &DXGIR =DICFID RQ EIRIHFK ~ PJU *IUHN
N WQH %/ = 9%HDID =DICFLD RQ .QH
%/ t %/
7N 7N 7N
3 = = \NiDG PRQRIUDILFIQ\
,QT\QUHUD ELRSURFHVRZD = \NiDG PRQRIUDIFTQ\ 6DQIL &DXGIR =DICFID RQ
x X
2 GUKDE SURI 8-~ _ 6DQIL &DXGIR =DICFID RQ 0QH %/ =
=DZIHUXFKD ,ZRQD =DICF 0QH %/ =
DRQUQH %/ =
7N
36 Z =DICFID RQ
0WOH %/ - 7e]
% LQT\QIHUD
= EIRSURFHVR
2 ZD GUKDE
N SIRI 8-
— =DZIHUXFK
u D ,ZRQD =
DICFID RQ
WQH %
/ -

3w

6R




